Notes for Gigi
Question 5: If you are certified organic, why?


This is data that is difficult to transform into numbers that can be analyzed.  The answers are “discrete.”  That is, they are separate things – they can’t be put on a number line and assign A = 1, B = 2, etc.  Numbers such as 2.5 in that situation would not be meaningful.


Total number of responses to each option:


A = 179


B = 166


C = 167


D = 170


E = 122


F =   16


Total of all responses = 820, out of 209 surveys


I’d consider the possibility that the pattern of responses to A, B, C, D, and E are more an example of how people read and respond to multiple-choice questions than they are any indication of differences in people’s reasons for going organic.  The first option gets the most responses, the last option gets the fewest.  If you had had the options in a different order on the survey, you might have seen a different pattern.  You would have to have the options offered in a different, random order on different surveys to exclude this possibility.

I changed each letter answer to a “1” if the respondent chose that option, and a zero if that option was not chosen.  Then I created a new variable: the sum of all choices by a respondent.  For instance, if someone chose A, B, and D, their “sum” variable would be 3. This is a variable that can be analyzed.


So – I analyzed this “sum” variable.  The variable is non-normal, which means it does not follow a normal curve with a peak in the middle and tapering off at both ends.  It is strongly skewed toward people choosing all five answers.  That means that the variance is pretty useless, because the data are distributed very unevenly around the mean.  Here’s the frequency distribution:

1 answer =    4.8% of respondents

2 answers = 10.0% of respondents

3 answers = 20.1% of respondents

4 answers = 21.1% of respondents

5 answers = 41.1% of respondents

6 answers =   2.9% of respondents


Here’s a chart showing the frequency distribution, with a normal curve superimposed:
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Rather than talk about differences between the responses, I’d say something like, “More than 90% of survey respondents cite more than one reason for being certified organic.  More than 80% of survey respondents cite at least three reasons.”
